
8
.S
P
.2

 
K
n
o
w
 
t
h
a
t
 
st
ra
ig
h
t
 
li
n
e
s 
a
re
 
w
id
e
ly
 
u
se
d
 
t
o
 
m
o
d
e
l 
re
la
t
io
n
sh
ip
s 
b
e
t
w
e
e
n
 
t
w
o
 
q
u
a
n
t
it
a
t
iv
e
 
v
a
ri
a
b
le
s.
 
F
o
r 

sc
a
t
t
e
r 
p
lo
t
s 
t
h
a
t
 
su
g
ge
st
 
a
 
li
n
e
a
r 
a
ss
o
ci
a
t
io
n
, 
in
fo
rm

a
ll
y
 
fi
t
 
a
 
st
ra
ig
h
t
 
li
n
e
, 
a
n
d
 
in
fo
rm

a
ll
y
 
a
ss
e
ss
 
t
h
e
 
m
o
d
e
l 
fi
t
 
b
y
 

ju
d
g
in
g 
t
h
e
 
cl
o
se
n
e
ss
 
o
f 
t
h
e
 
d
a
t
a
 
p
o
in
t
s 
t
o
 
t
h
e
 
li
n
e
. 
 
 
 
 

Choose the equation that best models the 

information in the graph below. 

 
A.  y=140+1.5x 

B. y=140-1.5x 

C. y=140x-1.5 

D. y=140x+1.5 

What is true of the equation for the trend line shown 

below? 

 
A.  It has a positive slope and a positive y 

intercept. 

B. It has a positive slope and a negative y 

intercept. 
C. It has a negative slope and a negative y 

intercept 
D. It has a negative slope and a positive y 

intercept. 

 

Which graph shows the line of best fit for the data? 

 

  

   

Ty wants to know if he is improving his skill on the 

cello. He created the scatter plot and drew a line of 

best fit. 

 
If he uses the points (2,8) and (5,1.5) from his line, 

which of the following would be his equation? 

 

The scatter plot shows the relationship between the number of tickets sold for a play and the revenue 

earned from ticket sales for each performance.  There are 2 different prices for tickets:  one price for adults 

and a significantly lower price for children. 

 
 

 

Part A:  Are there any outliers in the scatter plot?  If so, approximate 

the coordinates of the point of any outliers and explain why the point 

is considered an outlier using the information given in the problem. 

 

Part B:  If you informally fit a straight line to suggest a linear 

association, what would likely be the amount of revenue earned for 

150 tickets sold?  Explain your reasoning. 

 


